ERARExR (SM3ETALIH—EBHRE)

HFR—ILBERABER BiAd)
il 1% &[]

=H
d O ~ 120 130 ~ 165 1T~ 210 OB~ 210
£ A 55,000 66,000 77,000 176,000
TR.#A8 66,000 77,000 88,000 198,000

X BlE. R—ILERICHESHEM - BB HEEEET, 16500/ 1K 5
X BEEH) JYUERT AL, BmEEEL T22,000METEEET,
X AGHEIE, BREEIESITOERA,

FEADHERANER  (Bid#H)

SMIFETA1BRE
NO| & m # & 1X5 (M) HE NO| & L7/ 1R % (M) WE
1| O |f#k= 18 3,850 1| O [FitEd 1% 7,700
2 | O [7ys—RUYUrSA 131 3,520 2 | O |FrfegEs ko 4,400
3 | O |F—7HRIVUMSAE 151 3,520 3| O (%R 1% 1,650
4| O [Zyb31E 151 2,420 4 | O [t & (60X180X30) 1% 2,750
5 | O [—YvTRRIRSAH 15 770 5 | O [ & (90X180X30) E:o 2,750
6 | O [RERYES1H500W 15 550 6 | O [ & (90X180X12) 1% 2,750
7 | O |RRYRSARKW 18 825 7 | O |Wu#& (120X180X30) 1 2,750
8 | O [7AYFSAH 158 660 8 | O |[#EtA ko 2,200
9 | O |[EvREYRIE/UIKW 15 3,520 9 | O |&FE 13 4,400
B |o]| O|35—AK—-1 18 2,860 10 | O |REK 1= 4,950
gg 1| o |#—as2ry 18 2,860 1| O [950RET/ (R4 T4AD) ¥ 18 12,100
B | 12| O [Rusrs—E=RH 13 440 12| O [95RE7/(A=/\C5) 5 11,000
13 O |BRAZUE 15 660 13| O [EEE (K) [ES 1,100
14| O |REVF(BBARER) 1x 660 & || O | qTHEEE 1X 660
15| O |RAREEEAN 1KW 220 %‘z 15 | O [EEE 1= 2,200
16 | O |T7zok-Toy 15 2,860 1] 16 | O [[&& 15 4,400
17| O |Par 54k 15(28) 770 17| O |AsE& 18 4,400
18| O |ITO-Y—RT+— 18 (&8 1,100 18 | O [RELES 1= 7,700
19| O |LEDSA k 158 825 19| O |7—70n 15 550
20 | O [7—70vBR 14 550
21 | O [/S4THF 14 110
1| O | 18 3,850 22 | O [F¥ 1K 550
2 | O [cb mMD 15 3,630 23 | O |SEAERE 145 1,100
3 | O |[F—FLa—4%—(htvh) 148 4,400 24 | O (HBHT—I1L 1A 770
41 0 |=1Y 14 2,200 25 | O [RIAR—F 15 1,100
5| O [TLR—=4—T14Y 1= 3,850 26 | O |B/4K 18 550
6 | O |[REVF 1A 660 27 | O |EXKABEFA 1% 1,100
F | 7| O |BERRYRE 1% 3,850
; g8 | O |74 VLRZIER 18 3,850
& | 9| O |74¥LR=A% 1A 3,300 1] O |6 K-iE=E1 (44n) 12 3,300
10| O |RF—YRE—H— 15 1,650 2 | O (6B F—niE=E2 (71ni) 12 3,300
1] O |FALIMRYIR 18 550 3 | O |8k w—-rz-F4v5A (80m) 1= 5,500
12| O |/MEsFH— 15 1,100 4 | O [8BE F—Lz-F4v9'B (107m) 12 5,500
13 | O |FHAPABRRFEAN 1A 660 5 | O |[%EE 8,250
6 | O |[HVRCEER) 5,500
7 | O |SHYEECEER) 16,500 Y
1] O [FPaLsreraszys— (20000im) 1% 44,000 o 8 | O |#BAHER (90cm X5.4m) 33,000
2 | O [doremi #—s3— 1= 22,000 9 | O |BEHEER (90cm X7.2m) 44,000
3 | O |RGBZ—T L ko 550 ® 10 | O |ZXBIRTLER (90cm X1.8m) 16,500
4 | O [ESERKE 18 3,300 ftt |11 ]| o |=msiER ©oomx 2.7m) 19,800
B | 5| O |RYY—>H4mx8m) ko 4,400 12 | O [E7/@REH 20,130
g 6 | O [RVU—(#91.5mx 2m) 1= 2,200 13| O |[E7/RRHCERHIRH) 10,450
# | 7 | O [op FBLxH%— (5000im) 1&8(£8)| 33,000 14 | O |[E7 /8 N—YILIRH) 10,450
g | O [pvoIL—v— 1&8(&£H)| 5500 15 | O |F3IEmEIREN 1A (6hZ) 25,300
9o | O [F—LATL—¥— 1&(£8)| 8800 16 | O [HBIEdirEiREs 1A (6hiB) 27,500
10| O |L—¥—HR1ri — 15 3,300
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